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The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

1. 3fJjf(;fRgd9)~q:nn1m: fiX-Pd"1 ~CI"1IlI{lf(;f~1 'iT~:-

(q?) ~~'<'tlflldl Cf):? ~~~OO\3(Yc'1~;:ft~11

(~ ~~~~ wTrc=rr Cf):? ~ ~~ "1llil.-c1~~?

(1T) ~:~:?"$'iT~?

r~f) *llliHH"~ cffid~: ~~j*ll~ ~? ~ ~ "1llil(Yc'1~:Cf),<oft~:I

GS1 fct~N:Cf)R1~'t.f:?
('iT) ~: Cf)R1~ti? m'iTo@r?

(~) ~: cffid-fcrm":? "$ 'iT~ ?

2x5 = 10

2. 3l'4lf(;fRgd9) 14tyl!ltlg!I!I'11~ fi*1'(H ~(Hlll~f(;f~1 'iT~: c'1~4l~I: I

(q?) 3flnCf: ~ 3Tjf?rf<1: ("IT) 3llC15T~:("£T)~: ~ Cf)1,<OI~

5x4 = 20

3. 10x2 = 20

(q?) 16GI,<O~ctJ~qAtlG:~~¢ltt!lOllj*lI'<lil("li"1: \3n:hlP<1:Clof41~1I

(~ 16GI,<O~Cf)~qf.1t!G\3ffi: Cf): ? 16Gt,<O~Cf)~qAtld,~ "1lliCf),<OIf'QCf>RUt ~ ? \3qPttlG:

~xt~ 5'lR1qIG~dI

(1T) 16GI'<O~Cf)~qf.1tlG:3lj*lI~OI 3l1("li~f)q 5'lR1qIG~dI
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